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BER  REHS = z & 2 %z o BE%
FIRER  WPIEHERE 1,078 866 1,944 247 198 445 2289%
FORER BRBRIPRIEEE 1,391 1,242 2,633 381 336 717 2723%
FEIRERX STEYHHE 1,404 o017 2,321 413 289 702 30.25%
BARER SFEIZIaZTF12V5— 1,117 774 1,891 368 293 661 34.96%
FEOREX BILEREE 1,290 1,204 2,494 434 397 831 33.32%
EOREX  BOHE 876 868 1,744 272 238 510 29.24%
ETRER BHERERE 901 868 1,769 328 277 605 34.20%
FEORER BLRE 696 655 1,351 227 216 443 3279%
FOREX THBALRRRE 1,091 1,088 2,179 324 287 611 28.04%
B10RER FSIEREEE 2,403 2,118 4,521 685 559 1,244 2752%
FRER YRIIaZTFrbEYS— 1,975 1,788 3763 544 479 1,023 2719%
F12RERX WBLRE 1,610 1,370 2,980 398 366 764 2564%
F1REX EEM‘QEEE 1,383 1,078 2,461 402 321 723 29.38%
FI4RER ERNEREEE 1,549 1372 2,921 &1 455 Q972 33.28%
F15RER BBSLRE 1,203 1,145 2,348 374 328 702 2990%
F16RER BHIPREER 879 891 1,770 281 263 544 3073%
FATRER ABRIZaZFs2V5— 1,723 1,672 3395 550 524 1,074 3163%
F1SRER FBLRE 917 736 1,653 240 211 451 27.28%
F1ORER ABRIZER 1,224 1,103 2327 389 354 743 31.93%
F2ORER BUIILREE 803 718 1,521 187 186 373 2452%
F2IRER RBFRSNDLNEYH— 793 880 1,673 207 240 447 2672%
FOOWMER  RKIFNERAEEEE 1,023 1,136 2,159 242 202 444 2057%
FE2BREX HIBHEEZ - BEYS— 1,062 1,148 2,210 205 210 415 1878%
F24REX RGN PRIAEE 880 894 1,774 210 208 418 2356%
FOSRER SHBNEZEVY— 499 518 1,017 122 118 240 2360%
F2OREX XKBEHLRE 1,541 1,652 3193 518 506 1,024 3207%
EOTIRER WENIBNERREDST 1,324 1,387 2,711 450 446 896 33.05%
FE2BIRER KEESNDU\EE 937 945 1,882 362 330 692 36.77%
FOOREX FEMFABRIEIIaZFs Y- 483 522 1,005 166 145 311 3095%
FEIORER TRBEENEEEZYI— 918 886 1,804 305 280 585 3243%
EI1RER RIEUEZEZVH— 999 931 1,930 325 301 626 32.44%
FEI2RER BURREREE 1,241 1,238 2479 411 394 805 3247%
EIREX FHINEREEE 590 546 1,136 186 162 348 3063%
FEIMREX  WIINERIGELE 1,469 1,290 2,759 448 408 856 31.03%
EI5HREX &S 1,061 1,047 2,108 344 331 675 3202%
ZERE 5t 12,062 10,858 22,920 2945%
PEIS = 5553 5759 11,312 1453%
TESEE 79 89 168 022%
= 40,333 37,493 77826 17,694 16,706 34,400 44.20%
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